
ELECTRIC   3x3m



Plastic

hammer



Item

Carton

1/3

Carton

2/3

1B-01 1B-12

Qty

4 4

1B-13 4 1B-14 1 1B-15 1

1B-18 1

1B-19 11+ 1B-20 48+

1B-21

1B-22

16+

24+ 1B-23 26+

1B-24 1

1B-11 4

1B-02 1 1B-03 1 1B-04 2

1B-05 4 1B-08 2

1B-31 11B-30 1

Item

Qty

Item

Qty

1B-09 2

1B-48 23+ 1B-50 11B-49 24+

1B-51 96+

Carton

3/3

1B-06 24

3*3-1

1B-29 2

1B-64 1



Item

1B-01

Drawings

4

Qty

1

1

2

24

2

2

1B-02

1B-03

1B-04

1B-06

1B-08

1B-09

4

1B-05

+

3*3-2

1B-29

2



Item

Qty

4

41B-11

Drawings

1B-12

1B-13

1B-14

4

1

1B-18

1B-20

1

1B-19

1B-21 16+

48+

11+

24+

Item

Qty

26+

1B-22

Drawings

1B-23

1B-24 1

1B-15 1

M8*20

OPEN

STOP

CLOSE

1B-30
1

1B-31
1

M10*80

+
+

M8*20锁紧螺母

23+

96+

24+

11B-50

1B-51

1B-48

1B-49

M3.5*25

3*3-3

M4.2*19

1B-64 1

M5.5*50



2904

2
9

0
4

2
9

0
4

2904

120 2664 120

1
2

0
2

6
6

4
1

2
0

2

9

0

4

2

9

0

4

  3×3m

3*3-4

2
3
0
8

2
1
5
8

Warning :

In Snow  / Wind season or in case of

 snow / wind forecast open up your

 shutters in vertical position to avoid

any damaging  on your pergola.



1

a

1B-01

1B-01

MOTOR

AC 220V

AC 220V

MOTOR

AC 220V

MOTOR

AC 220V

OPEN

STOP

CLOSE

MOTOR

OPEN

STOP

CLOSE

Hole

Hole

Please bring cables (1.5M), power cords (1.5M)

and plug, and then put cables and power cords

 into the post.

Motor Wires Diagram - The control box is on the post

Warning:

Need to drill 2 holes  and put

wires by yourself.



2

a

1B-01

1B-01

MOTOR

MOTOR

Hole

Please bring cables (3M) and plug, and then

put cables into the post.

Motor Wires Diagram - The control box is not on the post

Warning:

Need to drill hole and put

wires by yourself.

MOTOR

MOTOR



3

x4

1B-01

1B-13

1B-22

4

4

24

a
1B-01

1B-13

1B-22

1B-01

1B-13

1B-22

b

M5.5*50

,I�WKHUH�DUH�HOHFWULFDO 
FRPSRQHQWV�LQFXOGLQJ�

PRWRU� EOLQGV�RU�/('�
OLJKW��6HW�WKH ZLUH�
WKURXJK�WKH�SRVW 
ILUVWO\��RWKHUZLVH�LW�

ZRXOG EH�YHU\�GLIILFXOW�
WR�GR�VR DIWHU�SHUJROD�
ZDV�DVVHPEOHG�



4

b

1B-04

1B-18

1B-04

1B-04

1B-18
1

2

a

x2



1B-18

1B-03
1

1

5

1B-02

1B-18

1B-02

a

b

1B-02
1

1B-02

1B-03

AC 220V

The post  for drilling and threading.



1B-21
16

1B-21

a

1B-21

b

6

Pls measure the diagonal

 size and make sure the

diagonal size keeps same

before screw 1B-21 mounted.

If not, pls adjust it to same

size.



4

8

1B-11

1B-19

1B-11

1B-19

1B-11

1B-19

a

b

7



8

1B-29 2

2
1B-05

1B-05

1B-29

1B-05

1B-29

a

b

1B-29

1B-05

1B-05

1B-05

1B-29

1B-29

1B-23

1B-23
8



1B-23

2

8

1B-23

b

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-23

1B-05

1B-05

1B-05

5

6

5

6

Warning:

Before installation, tear off the

protective film of the tape on the

back side of Gutter.

9

a

1B-05

1B-05

1B-05

1B-05

1B-29

1B-29

3*3m-16     4screws/3m side



10

1B-12
4

1B-12

a

b

1B-12

1B-24
1

1B-24



11

1B-48

23

23

1B-06

46

1B-51

a

b

1B-06

1B-48

1B-51

1B-64

1

M3.5*25

1B-48



12

1B-49

1B-50

50

24

1

1B-51

a

b

c

d

1B-49

1B-06

1B-51

1B-51

1B-50

1B-64

1

M3.5*25

x1

1
B
-5
0

1
B
-4
9

1B-49

1B-48



1B-06
24

13

a

b

1B-50

When installing louvers, first separate

the two rubber gaskets and slide

them to both ends of the circular

shaft. Then, please ensure they are

closed  tightly before proceeding with

the next steps of the installation.

1B-061B-06



1B-08

1B-08

a

1B-08
2

14

1B-23

b

c

1B-23
10

1B-23

1B-08

1B-08

10 Screws: 5pcs Per Strip



1B-20

1B-09

48

2

warning:

Bolts must be tightened

1B-20

1B-09

b

1B-20

1B-09

a

15



1B-24
1

1B-24

b

c

1B-24

1B-24

a

16



1B-15
1

31B-19

1B-14
1

a

1B-14

1B-15

c

+
+

M8*20锁紧螺母

1B-19

b

17



Motor controller

OPEN

STOP

CLOSE

1

1

Wires Diagram

OPEN

STOP

CLOSE

1B-30

1B-31

AC 220V

18

1B-30

1B-31

The control box is on the post

 Power in：220V

Power Out To

Motor： DC24V



OPEN

STOP

CLOSE

1B-30

1B-31

MOTOR

OPEN

STOP

CLOSE

1

1

Wires Diagram

19

1B-30

1B-31

The control box is not on the post

AC 220V

 Power in：220V

Power Out To

Motor： DC24V


	UFL2单 1号电动3X3米 2024.6.1201
	UFL2单 1号电动3X3米 2024.6.1202
	UFL2单 1号电动3X3米 2024.6.1203
	UFL2单 1号电动3X3米 2024.6.1204
	UFL2单 1号电动3X3米 2024.6.1205
	UFL2单 1号电动3X3米 2024.6.1206
	UFL2单 1号电动3X3米 2024.6.1207
	UFL2单 1号电动3X3米 2024.6.1208
	UFL2单 1号电动3X3米 2024.6.1209
	UFL2单 1号电动3X3米 2024.6.1210
	UFL2单 1号电动3X3米 2024.6.1211
	UFL2单 1号电动3X3米 2024.6.1212
	UFL2单 1号电动3X3米 2024.6.1213
	UFL2单 1号电动3X3米 2024.6.1214
	UFL2单 1号电动3X3米 2024.6.1215
	UFL2单 1号电动3X3米 2024.6.1216
	UFL2单 1号电动3X3米 2024.6.1217
	UFL2单 1号电动3X3米 2024.6.1218
	UFL2单 1号电动3X3米 2024.6.1219
	UFL2单 1号电动3X3米 2024.6.1220
	UFL2单 1号电动3X3米 2024.6.1221
	UFL2单 1号电动3X3米 2024.6.1222
	UFL2单 1号电动3X3米 2024.6.1223
	UFL2单 1号电动3X3米 2024.6.1224
	UFL2单 1号电动3X3米 2024.6.1225

